
®

     

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016  
 

www.cobrausa.com  

 

11/11
 1 ®

 

 

 

*  Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while u nder 
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

2 – SADDLEBAG LID GUARDS (LEFT & RIGHT) 

6 – M6 X 20mm BUTTONHEAD BOLT 

6 – SPACER, ALUM  

6 – WASHER, 1/4" RUBBER 

6 – WASHER, 1/4" STEEL 

6 – NUT, M6 NYLOCK 

1 – LOCATION TEMPLATE 

 

 

Application(s) > 

KAWASAKI VN1700 VOYAGER/NOMAD 2009-15 

 

Instruction Manual > 

The saddlebag lid guards require drilling holes in the painted plastic saddlebag lid.  Extreme care should be 
taken to follow these installation instructions carefully to avoid damaging the motorcycle. 

1. Set the motorcycle securely on the side stand on a firm level surface, or position the motorcycle upright with the 

aid of a motorcycle stand/lift. 

2. Apply medium adhesion painter’s masking tape (such as 3M Scotch-Blue™) on the top surface of the left and 
right saddlebag lid.  See Figure 1 for coverage area. 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. To locate the first hole position, use the supplied paper template. Cut the template along the dotted line and poke 
a hole through the paper at the center point of the drill location.  

4. Position the cut edges of the template against the chrome latch on the right side saddlebag. Use painter's tape to 
temporarily secure the paper if needed. Mark the drill location on the saddlebag lid using a marker or something 
similar.  

5. Now that the first drill position is marked, remove the template. Drill the first hole location using a drill equipped 
with a 1/4 inch (.250") drill bit. Cobra recommends using a pilot drill (1/16 inch) before drilling the final diameter.  

6. Temporarily bolt the saddlebag guard using the supplied hardware in the first drilled hole position. Hold two 
spacers under the other two hole locations then rotate and adjust the guard so that the inside edge matches the 
inside contour of the saddlebags. See Figure 2. Mark the two remaining hole locations onto the saddlebag lid. 
NOTE: Using the spacers will produce accurate hole locations; DO NOT rest the guard directly onto the lid. 

7. Remove the guard and drill the remaining two hole locations in the same manner as Step 5. 

8. Flip over the same cut template and repeat Steps 4-7 on the left side.. 

 

 02-6943 Page 1 of 2 

 

DOCUMENT NO.  0017 REV. A
 

 

 

FRONT OF 

MOTORCYCLE 

PAINTER'S TAPE 

(RIGHT SIDE SHOWN) 

FIGURE 1 



®

     

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016  
 

www.cobrausa.com  

 

11/11
 2 ®

 

  

 

 
Instruction Manual >  02-6943 Page 2 of 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

9. Remove all the painters tape from saddlebags.  

10. Install the lid guards using the supplied hardware in the order shown in Figure 3. Make sure all hardware has 
been fully tightened before riding. Open and close the saddlebag lids making sure the guards are secured. 

 

 

DOCUMENT NO.  0018 REV. A 

 
 

FRONT OF 

MOTORCYCLE 

GUARD TEMPORARILY 
BOLTED IN PLACE 

(RIGHT SIDE SHOWN) 

FIGURE 2 

INSIDE EDGE 
OF GUARD 

CONTOUR OF THE 
SADDLEBAG 

 

MARK REMAINING TWO HOLE 
LOCATIONS 

(SPACERS UNDERNEATH) 

 
 

FIGURE 3 

M6 X 20mm 
BUTTONHEAD BOLT 

 

(HARDWARE ORDER 
TYPICAL FOR ALL HOLES) 

SUPPLIED SPACER 

 
1/4" RUBBER WASHER 

 

1/4" STEEL WASHER 

 M6 NYLOCK NUT 

 


